(18

o)

EEM DL BRI (7 A 15 H BLAE)

2947 A 20 H
e ¥ B R B

THRPEORRIT, SEMISEREICEDIE U A 22 RIRITEFELD 720 < BK ST, B RIFRIZZ o7,

BAEMDEB L., SR - LRI ED  RUTEERITHER L TA,

HEBERR - BEERR)

BRI ORI
E W - - i 5
X 4 A AR | PEZE| FE M B I B H %%
) 64.3 N0 AR
) L cm 0.2 AR DR
K i B s 10.5 0.1 PR i B EFER FERIHEBL TS,
2| A/t 645 A19 AR =
B cm 79.6 0.5 A 2,54
EENE FH | A/od| 720 36.0 | PRI ~ B2 |EFECHEIRICHEBL TS,
R cm 9.0 A0 FeEN PR
% > AR Eﬁﬁa
EHL Ropem o 820 IR T o i, R LTS,
| A/ 3.5 0.1 AR s
EOL 37.7 0.3 | P4E
P s z 0 T = L0 R FEEICHEEL TS,
. 5N 13.7 | A0.7 | oR0FW
N ;& ;2 0 R - 0 | R LTS,
=1 26.8 A\6.6 D
E T () P e o WE | g B,
EH # 3.8 A0.3| s
BT cm 52.5 0.4 SEARRf
TAZR | K 23.0 24| - FA |, RRREA TS,
HRJE cm 23.3 2.0 LKW
5. cm 86.2 4.2 SRR
. PS '8 8.9 A04| bl | )
rEhE sebie | m | ore| 14| g | FER | EO[ETE TRELTHEBLTOS,
BRPE cm 4.6 0.1 SRR
i K | em® | 509 3.2 4RI — I=N]
WAz i , EE R IR L TQD,
i % 80 - - - + 0
FELQE)| o 26.8 1.8 PR - Bl | —HEOIHEIERET, AWK T L,
oo TERBEOEE L, TELITHBL TOS,
IR | % 94 — — — 1=}
1oL AL RO cm | 131.8 41| FEI B IR \
(AL —H) _— " s 03 S B AR FELITHERBL TOD,

H)EHIL, £2H FTE AL

L E3~AHETRRRNGEY Y

L ESHU EETRWGEEW JELTWET,

KENE, 8H 1 HBAEDRIEMOAEFRINZSHA4H (&) 15RFITARTHFTETY,




EHOAE AEEOEEE (7H 15 HBAE)

=7 AR | BERAE| BoLr | kg | AR |G| <Ax | e AT e AT
AB- | AFEH | ATEE | ATEE | ATEE | AEEH | AEEH | AFEE | ATEE | AFEE | BREXREE | 2%% | BIERER | AFEE
LR |ompaenE| A8 DA BIESRE - - - — - - A [Ewsn)| - [IHEQE)| ) -
28501 P2 H B1H — PELH — — — +0H 1A | 1A 92| — — — —
ANF 1A H2H FE2 H FE1LH FE1LH — 18 H2H — — — ELIR | #2H 98 H2H
%k IFE1H +0H +0H +0H FE1H — H2H — H1H +0H 75| H1H | H4H 95 —
JlEE7 H2H +0H B1H H3H B[ — BAH o +0H | B2A 60 | H1H | £O0H 97 B1H
H & H2H — — — — — — — — — — | E1H | F6H 90 FE1H
T 5 F1A — H3H — — — — — H4H +0H 98 | ®3H | H2H 100 +0H
it I3 H F4H H1H H2H 2 H — F3H — — — — ELH | B2 99 1A
B +0H B[ B1H 1A 2 H 2 H PE1H E#3H B3[ | B3B8 95| #E3H | ELH 87 +0H
B IE3H 2 H — +0H +0H — — — +0H | #E3H 100 | H2H | £0H 95 —
FHR—vz | +0H B[ FoH 1A 2 H 4 H H3H +0H — — — | 18 | #1A 92 E1H
+ 5 — F2H H2H F1A 1A 1A F5H — — — — H2H | H4H 100 F2H
k7l — F3H H5H — — — H6H — — — — F1p | ®3H 96 B1A
FREE — — H3A — — — H5A — — — — B1A | H6H 95 H4H
R — — — — — — — — — — — | 2R | #3H 90 —
et E1H H2H H2H +0H +0H LA B4R +0H H1H | +0H 80 | H1H | H2H 94 H1A

[EAEM A B IR EE IR SEXRE OB EG RS N B X —NHE L 0%  INE IV EHLI-L DT,
INHET R L | RAEZEDHER SN0 D HUR O FEEZEEHE T, JFHIEL T 20 H JERFELTOVET,




